Chemistry 1.2 Answer Keys

1. The oxidaticn pumber for cxygen is usua’ly -2,
Exceptiopg: 2. and peroxises
(D==0 bond s=> ax. H:D., Ma,0:;, asnd BaC, ard ete.)

. The oxidation number of hydrogen iz uzually +1.

Excaptiong: E; and hvirides Ex. NaH, Zads, and ace.
3. Cxidatior nurkars of an atom or group of atoma is equal To the chazge an the
spacias,
2., The oxidation number on Zres elemernts is zerc.

Ex., Eg, e, Cr, *¥n....eta,

= The oxifation number for elements wher corbined with themselves iz zaro
Ex., Hz, Eg, Bra, ... .ete.)
¢, The pxidation aumber of a monatomic ion is egqual o its charge.
e | SRIDATTCH XIHBER
wl- +1
Ca®- +i
Pas+ +1
g% -
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@, The sum af the oxidstl!an numbers af the elemests in a polyvatamic lon 25 emual ko

its net charge.
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@, The sum of the sxidartior nurkers of —he elemente in & polyacomic ion iz egual to

its aet charge.
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